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ΗΛΕΚΤΡΟΛΟΓΙΑ Γ΄ ΤΑΞΗ 
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2005 

 
ΑΠΑΝΤΗΣΕΙΣ 

A.1  γ 
 
Α.2  α 
 
Α.3  γ 
 
Α.4  γ 
 
Α.5  α) Λάθος  β) Σωστό, γ) Λάθος , δ) Σωστό 
 
Α.6  

Πίνακας αληθείας 
x y x+y x ⋅ (x + y) 
0 0 0 0 
0 1 1 0 
1 0 1 1 
1 1 1 1 

Άρα  x ⋅ (x + y) = x 
 
A.7  
       Σχήµα 4.13, Σελ 164, Σχολικό Βιβλίο. 
 

ΟΜΑ∆Α Β 
 
Β.1 
      α) Εολ = Ε1 + Ε2 − Ε3 = 20 + 60 − 30 ⇒ Εολ = 50 V. 
 
      β) rολ = r1 + r2 + r3 = 1 + 3 + 1 ⇒ rολ = 5 Ω. 
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 1ος Κ.Κ.  Ι = Ι2 + Ι3 ⇒ Ι3 = 2,5 Α. 
 
       δ) VΚΛ = Εολ - Ιrολ = 50 − 5 ⋅ 5 ⇒ VΚΛ = 25 V. 
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B2. 
 α. Volt2200V0 = . 
ω = 400 rad/sec. 
XL = Lω = 0,01 ⋅ 400 ⇒ XL = 40 Ω. 
 
β. Ω240Z4040XRZ 222
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γ. Volt200
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ε. συντονισµός → XL = XC ⇒ F
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C = 62,5 ⋅ 10-6 F. 
 


